ADVERTISEMENT FOR BIDS

Wood Creek Water District will be accepting sealed bids for the supply and delivery of:

Various sizes and amounts of PVC Pipe, Hydrants, Valves, and Fittings

Specifications may be obtained by contacting Juh-Rawn Napier at (800) 551-7965 Ext. 203 or by visiting www.woodcreekwater.org. Sealed Bids may be mailed to or placed at the District Office at: 1670 E. Hal Rogers Parkway, London KY 40741.

Business hours are Monday thru Friday from 8:00 AM to 4:30 PM. Bids may be placed until bid opening at 3:00 PM Monday August 15, 2022.

The District reserves the right to waive any informalities and/or to reject or accept any and all bids.

0	Material Bid Specifications
Quantity	ltem
24,000 L.F.	3" SDR-17 PVC Pipe (White or Blue)
7,000 L.F.	4" SDR-17 PVC Pipe (White or Blue)
14,000 L.F.	6" SDR-17 PVC Pipe (White or Blue)
13	6"x6"x6" D.I. C153 MJ Tee
19	3" MJ Resilient Wedge Gate Valve (2" Operating Nut, Left Open)
20	6" MJ Resilient Wedge Gate Valve (2" Operating Nut, Left Open)
16	3 ft. Bury Dry Barrel Fire Hydrant, 6" MJ Shoe, 5 1/4" Main Valve, Left Open,
	3 Nozzle (2 - 2 1/2" Hose Nozzle & 1 - 5" STORZ Pumper nozzle design)
	***Hydrants must be either Kennedy Guardian K81A or Mueller Super Centurion 250**
	No other brands will be accepted
6	4 ft. Bury Dry Barrel Fire Hydrant, 6" MJ Shoe, 5 1/4" Main Valve, Left Open,
	3 Nozzle (2 - 2 1/2" Hose Nozzle & 1 - 5" STORZ Pumper nozzle design)
	Hydrants must be either Kennedy Guardian K81A or Mueller Super Centurion 250
	No other brands will be accepted

- ¹ Bid will be awarded to the overall lowest total bid.
- ² All bids shall include the brand of material, unit cost, and total cost
- 3 Supplier shall provide The District with availability information and estimated delivery of said material
- ⁴ Bids shall include any and all applicable taxes, fees, charges, and shipping costs.
- ⁵ Must comply with all AWWA and Water District standards.
- ⁶ Wood Creek Water District reserves the right to wave any informalities and/or to reject or accept any or all bids.

I, Teton Juh-Rawn Napier certify that on Wednesday, August 3rd, 2022 I posted the following Advertisement for Bid on http://www.woodcreekwater.org and following the awarding of said bid, archived the advertisement on the site's news archive page.



Advertisement for Bid

August 01, 2022

Wood Creek Water District will be accepting sealed bids for the supply and delivery of,

Various sizes and amounts of PVC Pipe, Hydrants, Valves, and Fittings.

Specifications may be obtained by contacting Juh-Rawn Napier at (800) 551-7965 Ext. 203 or by clicking **HERE**.

Sealed bids may be mailed to or placed at the District Office at: 1670 E. Hal Rogers Parkway, London, KY 40741.

Business hours are Monday thru Friday from 8:00 AM to 4:30 PM. Bids may be placed until bid opening at 3:00 PM Monday August 15, 2022.

The District reserves the right to waive any informalities and/or to reject or accept any and all bids. Bids will be awarded to the lowest overall bid.

Click for ADVERTISEMENT FOR BID Document

Click for Bid Specifications Document

Print: Teton Juh-Rawn Napier

Sign: _____ Date: September 07, 2022

From: <u>Teton Juh-Rawn Napier</u>

To: C.I. Thornburg (Onohundro, Tony); Consolidated Pipe (Bryan Melcher); Core & Main (Cerrie, Mark); Core & Main

(White, Darrell); Ferguson Waterworks (Petersen, Kyle); G&C Supply (Coulter, Taylor); G&C Supply (Phillips,

Dusty); Hayes Pipe & Supply (Pelfrey, Troy); Hayes Pipe Supply (Novak, George)

Cc: "JuhRawn@woodcreekwater.org"

Subject: Wood Creek Water District - Advertisement for Bid

Date: Monday, August 1, 2022 4:53:00 PM

Attachments: <u>image001.png</u>

ADVERTISEMENT FOR BIDS

Wood Creek Water District will be accepting sealed bids for the supply and delivery of:

Various sizes and amounts of PVC Pipe, Hydrants, Valves, and Fittings

Specifications may be obtained by contacting Juh-Rawn Napier at (800) 551-7965 Ext. 203 or by visiting www.woodcreekwater.org. Sealed Bids may be mailed to or placed at the District Office at: 1670 E. Hal Rogers Parkway, London KY 40741.

Business hours are Monday thru Friday from 8:00 AM to 4:30 PM. Bids may be placed until bid opening at 3:00 PM Monday August 15, 2022.

The District reserves the right to waive any informalities and/or to reject or accept any and all bids.

*** The direct link to the specifications is listed below so you don't have to go to the website,

https://storage.googleapis.com/production-domaincom-v1-0-0/530/1350530/F2LbfRf7/dccf09b9ebf940ef8e093483f5ff7e84? fileName=July%2027%202022%20Bid%20Specs.pdf

Thanks,

Teton Juh-Rawn Napier

Wood Creek Water District

JuhRawn@woodcreekwater.org

Office: (800) 551-7965 Ext. 203

Cell: (606) 682-3593



NOTICE:

Legally privileged and confidential information may be contained in this message and is intended only for the use of the individual or entity to whom it is addressed. Any dissemination, distribution, printing or copying of this material by anyone other than the intended recipient is strictly prohibited. If you have received this communication in error, please notify Wood Creek Water District immediately at (800) 551-7965 or JuhRawn@woodcreekwater.org.

16A | WEDNESDAY, AUGUST 3, 2022

Wood Creek Water District will be accepting sealed bids of various sizes and amounts of PVC Pipe, Hydrants, Valves...

Wood Creek Water District
will be accepting sealed bids
for the supply and delivery
of:
Various sizes and amounts
of PVC Pipe, Hydrants,
Valves, and Fittings
Specifications may be
obtained by contacting JuhRawn Napier at (800) 5517965 Ext. 203 or by visiting
www.woodcreekwater.org.
Sealed Bids may be mailed
to or placed at the District.

Bid Tabulations Wood Creek Water District 8/15/2022 @ 1500 hrs

PVC Pipe, Hydrants, Valves and Fittings

Name of Bidder	Bid Price	Comments
C.I. Thornburg	SNO BED	No BID RECESTED
Consolidated Pipe Supply	\$439,586.51	
Core & Main	\$311,707.36	MIS QUOTED PIPE PRICE HONDR.
✓ Ferguson Waterworks	\$428,367.	
G&C Supply	\$369,252.80	NOT COMPLETE, BED EMAZZED, NOT SEALED
Hayes Pipe Supply	\$ NO BED	NO BIO RECEIVED
	\$	
	\$	
	\$	
	\$	

Name (Print): 1ETON S. NAREER	Witness Name (Print):
Name (Sign):	Witness Name (Sign):
Date: AUGUST 15, 2922@1617	Date:



FERGUSON WATERWORKS #1494 1209 INDUSTRY ROAD LEXINGTON, KY 40505-0000

Phone: 859-624-2800 Fax: 859-623-4658

De	liver	To
----	-------	----

From:

Gage Morrison

Comments:

09:37:03 AUG 15 2022

Page 1 of 1

FERGUSON WATERWORKS #1491

Price Quotation Phone: 859-624-2800

Fax: 859-623-4658

Bid No:

B211744

Bid Date:

Customer:

08/10/22

Quoted By: KFP

WOOD CREEK WATER DISTRICT

PO BOX 726

LONDON, KY 40743

Cust Phone: 606-878-9420

Terms:

NET 10TH PROX

Ship To:

WOOD CREEK WATER DISTRICT

PO BOX 726

LONDON, KY 40743

Cust PO#:

8-15-22 @ 3PM QUOTE

Job Name: 8-15-22 @ 3PM QUOTE

Item	Description	Lead times	Quantity	Net Price	UM	Total
	SDR17: JM EAGLE			***		
SDR17PM	3 SDR17 CL250 PVC F	PIPE	24000	3.940	FT	94560.00
SDR17PP	4 SDR17 CL250 PVC F	PIPE \ 8-12 weeks	7000	6.480	FT	45360.00
SDR17PU	6 SDR17 CL250 PVC F	PIPE	14000	13.780	FT	192920.00
	6"MJ TEE-SIGMA/TYL	ER/STAR				
MJTLAU	6 MJ C153 TEE L/A -	stock attime of q	note 13	145.840	EA	1895.92
	GATE VALVES AND H					
	KENNEDY					
K7571LAMOL	3 DI MJ RW OL GATE	VLV L/A > instack at time of	quote 19	579.880	EA	11017.72
K7571LAUOL	O DI WIJ KW OL GATE	VLV L/A	20	825.890	EA	16517.80
	M 5-1/4 VO 3 WAY HYD 3		16	2979.800	EA	47676.80
KK81D514LAOL6MJ3W	P 5-1/4 VO 3 WAY HYD 4	4'0 OL LA 6 MJ >20-28 Wee	6	3069.800	EA	18418.80
				Net Total:		\$428367.04
				Tax:		\$0.00
				Freight:		\$0.00
				Total:		\$428367.04

Quoted prices are based upon receipt of the total quantity for immediate shipment (48 hours). SHIPMENTS BEYOND 48 HOURS SHALL BE AT THE PRICE IN EFFECT AT TIME OF SHIPMENT UNLESS NOTED OTHERWISE. QUOTES FOR PRODUCTS SHIPPED FOR RESALE ARE NOT FIRM UNLESS NOTED OTHERWISE.

CONTACT YOUR SALES REPRESENTATIVE IMMEDIATELY FOR ASSISTANCE WITH DBE/MBE/WBE/SMALL BUSINESS REQUIREMENTS.

Seller not responsible for delays, lack of product or increase of pricing due to causes beyond our control, and/or based upon Local, State and Federal laws governing type of products that can be sold or put into commerce. This Quote is offered contingent upon the Buyer's acceptance of Seller's terms and conditions, which are incorporated by reference and found either following this document, or on the web at https://www.ferguson.com/content/website-info/terms-of-sale Govt Buyers: All items are open market unless noted otherwise.

LEAD LAW WARNING: It is illegal to install products that are not "lead free" in accordance with US Federal or other applicable law in potable water systems anticipated for human consumption. Products with *NP in the description are NOT lead free and can only be installed in non-potable applications. Buyer is solely responsible for product selection.

COVID-19 ORDER: ANY REFERENCE TO OR INCORPORATION OF EXECUTIVE ORDER 14042 AND/OR THE EO-IMPLEMENTING FEDERAL CLAUSES (FAR 52.223-99 AND/OR DFARS 252.223-7999) IS EXPRESSLY REJECTED BY SELLER AND SHALL NOT APPLY AS SELLER IS A MATERIALS SUPPLIER AND THEREFORE EXEMPT UNDER THE EXECUTIVE ORDER.



HOW ARE WE DOING? WE WANT YOUR FEEDBACK!

Scan the QR code or use the link below to complete a survey about your bids:

https://survey.medallia.com/?bidsorder&fc=1494&on=8988



98 Jolly Industrial Park Drive Phone:(859) 261-0319

Project:

081522 PVC Valve Hyd

Location:

Woodcreek Water Dist

Date:

7/25/2022

Bid					Unit		Extended	
Item #	Description	Unit	Quantity		Cost	Cost		
	3" sdr 17	lf	24000	\$	4.25	\$	102,063.16	
	4" sdr 17	lf	7000	\$	6.49	\$	45,427.08	
	6" sdr 17	lf	14000	\$	13.99	\$	195,851.06	
	6" MJ Tee C153	ea	13	\$	151.56	\$	1,970.22	
	3" MJ Mueller Gate Valve	ea	19 20	\$	556.26	\$	10,568.90	
	6" MJ Mueller Gate Valve	ea		\$ 729.06		\$	14,581.18	
	3' Bury Muller Fire Hyd w/Storz	ea	16	\$	3,092.66	\$	49,482.61	
	4' Bury Mueller Fire Hyd w/Storz	ea	6	\$	3,273.72	\$	19,642.29	
*	Truck Load Quantities Only							
24000'	3" Some in 60 days							
20160'	4" Some in 60 days							
8960'	6" 1) Truck Available Now	1						
*	Estimated complete by 2023							
	Sub Total for this Bid					\$	439,586.51	
	Sales Tax					\$	_	
	TOTAL MATERIAL COST					\$	439,586.51	

rms and conditions of this proposal are as follows:

is quotation is based on the receipt of the entire list of material. Any deviation could result in price anges.

e quoted PVC Pipe prices are firm for order placement for thirty (30) days from bid date, and pment within thirty (30) days from order. Delays in ordering or receiving shipment beyond this netable MAY escalate prices.

el Casing Pipe prices are good for 30 days from bid date.

PE Pipe prices are good for 3 days from bid date.

Copper and stainless steel prices are subject to change without notice.

other material prices are good for 90 days.

JE TO UNPRECEDENTED INDUSTRY WIDE PRICE CHANGES FROM MANUFACTURERS AND FRIEGHT IMPANIES, ALL PRICES ARE SUBJECT TO REVIEW AT THE TIME THE ORDER IS PLACED AND MAY BE ANGED BASED ON MARKET CONDITIONS AT THAT TIME. THANK YOU FOR YOUR PATIENCE DURING IS DIFFICULT PERIOD OF JOB MATERIAL QUOTATIONS.

tals listed above do no include any items not specifically mentioned in the above scope of material.

e scope of material listed is our interpretation of the plans and specifications of this project. All aterials shall be approved for use by the project engineer and/or water district. Quantities shall be rified and approved before placing an order. Return of any materials ordered are subject to a restock

yment Terms: Net 30 days.

B Terms: Jobsite

xes: Prices quoted are excluding any applicable taxes.

bmittals and drawings: Prices include any required submittal drawings

At NO CHARGE.

e appreciate the opportunity to provide you with this quotation, and hope we may be favored with ur valued business.

nsolidated Pipe And Supply



Bid Proposal for WOOD CREEK WATER SEALED BID 3/15/2022

WOOD CREEK WATER DISTRICT

5600 North US25 EAST BERNSTADT, KY 40729

Job

WOOD CREEK WATER SEALED BID 3/15/2022 Bid Date: 08/15/2022

Sales Representative

Kevin Winter
(M) 859-333-6572
(T) 859-253-3464
Kevin.Winter@coreandmain.com

Core & Main

Bid #: 2485899

2141 Christian Rd Lexington, KY 40509 (T) 859-253-3464

JOTES

CUSTOMER



Bid Proposal for WOOD CREEK WATER SEALED BID 3/15/2022

WOOD CREEK WATER DISTRICT

Bid Date: 08/15/2022 **Core & Main** 2485899

*** 6" Pipe was mis-quoted, not honored.

Bid rejected ***

Core & Main
41 Christian Rd

2141 Christian Rd Lexington, KY 40509 Phone: 859-253-3464

Fax: 859-253-0848

Seq#	Qty	Description	Units	Price	Ext Price
		DUE TO CURRENT SUPPLY CHAIN DISRUPTIONS, MATERIALS	The second		
		ARE SUBJECT TO PRICING AT TIME OF SHIPMENT. MATERIAL			
		AVAILABILITY AND TIMELINESS OF SHIPMENTS CANNOT BE			
		GUARANTEED. THIS TERM SUPERSEDES ALL OTHER			
		CONTRACTUAL PROVISIONS.		American Indiana (Indiana)	
10	24000	3 PVC SDR17 PR250 PIPE (G)	FT	3.69	88,560.00
20		4 PVC SDR17 PR250 PIPE (G)	FT	6.09	42,630.00
30	14000	6 PVC SDR17 PR250 PIPE (G)	FT	6.60	92,400.00
40	13	6 MJ TEE C153 IMP	EA	150.11	1,951.43
50	19	3 A2361-23 MJ RW GV OL L/ACC MECH JOINT RESILIENT WEDGE GATE VALVE,2" OPER NUT, OPEN LEFT LESS ACC.	EA	567.97	10,791.43
60	20	6 A2361-23 MJ RW GV OL L/ACC	EA	809.51	16,190.20
70	16	A423 5-1/4VO HYD 3'0"B 6MJ 3W O/L L/ACC (RED)	EA	2,654.88	42,478.08
80	6	A423 5-1/4VO HYD 4'0"B 6MJS 3W L/ACC	EA	2,784.37	16,706.22
100		ALTERNATE LANSDALE VALVES			
110	19	LAN 3" MJ X MJ NRS GATE VALVE W/ OP NUT	EA	335.53	6,375.07
120	20	LAN 6" MJ X MJ NRS GATE VALVE W/ OP NUT OL 700-275-00500	EA	575.50	11,510.00
140		SDR17 ALTERNATE DR 9 POLY			
150	24000	3 IPS DR9 HDPE PIPE	FT	2.77	66,480.00
160	7000	4 IPS DR9 HDPE PIPE	FT	4.43	31,010.00
170	14000	6 IPS DR9 HDPE PIPE	FT	8.93	125,020.00
				Sub Total	Annual consideration of the second section of the second section is a second se
				Tax	0.00
				Total	552,102.43

Branch Terms:

This quote represents our interpretation of the plans & specifications and is offered as an aid to bidding only. Customers should verify all materials & quantities prior to bidding or ordering.

Unless otherwise noted, PVC pipe prices are based on availability at the time of shipping.

HDPE prices are good for 10 days from quote date and price per foot might be revised if quantity changes. Pricing is subject to change if the scope of the quote is altered, at the discretion of the branch.

Special order material or other non-stock items may be non-refundable or subject to a cancellation/restock charge. Special order non-stock items must be shipped to customer within 30 days of receipt by Core & Main.

UNLESS OTHERWISE SPECIFIED HEREIN, PRICES QUOTED ARE VALID IF ACCEPTED BY CUSTOMER AND PRODUCTS ARE RELEASED BY CUSTOMER FOR MANUFACTURE WITHIN THIRTY (30) CALENDAR DAYS FROM THE DATE OF THIS QUOTATION. CORE & MAIN LP RESERVES THE RIGHT TO INCREASE PRICES TO ADDRESS FACTORS, INCLUDING BUT NOT LIMITED TO, GOVERNMENT REGULATIONS, TARIFFS, TRANSPORTATION, FUEL AND RAW MATERIAL COSTS. DELIVERY WILL COMMENCE BASED UPON MANUFACTURER LEAD TIMES. ANY MATERIAL DELIVERIES DELAYED BEYOND MANUFACTURER LEAD TIMES MAY BE SUBJECT TO PRICE INCREASES AND/OR APPLICABLE STORAGE FEES. THIS BID PROPOSAL IS CONTINGENT UPON BUYER'S ACCEPTANCE OF SELLER'S TERMS AND CONDITIONS OF SALE, AS MODIFIED FROM TIME TO TIME, WHICH CAN BE FOUND AT: https://coreandmain.com/TandC/



QUOTATION

WATER, SEWER & GAS SUPPLIES SIGN & SAFETY SUPPLIES

P.O. Drawer 459 - 1105 State Route 77 Atwood, TN 38220 (731)662-7193 or (800)238-3836

Order Number				
1915980				
Order Date Page				
08/15/2022 08:05:23 1 of 2				

Bill To:

WOOD CREEK WATER DISTRICT PO BOX 726 LONDON, KY 40743 **Ship To:**

WOOD CREEK WATER DISTRICT 5600 NORTH US 25 EAST BERNSTADT, KY 40729

606-878-9420

Customer ID: 111967

	PO Number				Ship Route		7	Taker	
					UTLY		TCC	OULTER	
Quantities Status Key B = Backorder		Item ID	Item ID		Uni		Extended		
Ordered	Remaining	Status of Ralance	D = Direct C = Canceled	Item Description			Unit Size	Prico	Price
		C	<i>Sustomer Note:</i>	SALESREP -	- DUSTY PHILLI	PS			
24,000	24,000			RR250-3 3 CLASS 25 SDR 17 *** WEEKS ****	** JET STREAM	PIPE, 16-18	FT	3.9700	95,280.00
7,000	7,000				RR CLASS 250 PI REAM PIPE, 16-1		FT	6.4500	45,150.00
14,000	14,000				CLASS 250 WAT JET STREAM PI		FT	14.2300	199,220.00
13	13				TEE L/ACCS. YLER UNION, IN	STOCK AT	EA	170.5000	2,216.50
19	19			_	MJ RW GATE VAI 8-12 WEEKS	LVE	EA	570.1000	10,831.90
20	20				MJ RW GATE VA H VALVE, IN STO		EA	827.7200	16,554.40



WATER, SEWER & GAS SUPPLIES SIGN & SAFETY SUPPLIES

P.O. Drawer 459 - 1105 State Route 77 Atwood, TN 38220 (731) 662-7193 or (800) 238-3836

Ω II Ω	
OUO	IUN

Order Number				
1915980				
Order Date Page				
08/15/2022 08:05:23	2 of 2			

Quantities	Status Key B = Backorder	Item ID		Unit	Extended
Ordered Remain	D = Direct C = Canceled	Item Description	Unit Size	Price	Price

Total Lines: 6

SUB-TOTAL: 369,252.80

TAX: 0.00

AMOUNT DUE: 369,252.80

U.S. Dollars

*** Bid was e-mailed, and incomplete.
Bid Rejected ***